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(20%)%oygues shown N the Fijwe 1.

(A) Defeymine_ +l\e YeiuireJ J?amefu O{ab, Abc , amdk Aea jtxy each Parf
oj the chaft g’r)\e allowable  gtress in shear s [gooo PSIi
(B) Dedermine +the veguired diameder OQaL, Aic, and ded —fnr each pat
bj the SL\A%‘ Tj- je 5}\01* s hollow with an insde Jrame&er
oj’ 1 ., amok 'f’lUL allowsble S’){Yess in shear is 10,000 psr, .
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—. ConSquci— S}\em’ anA momen* d?aarams ?Lnr ’f'}\e })ea\m ,Qoaxeo( as
shoon N Fiqure 2.. You orve asked to show the J(ree-boo(/
(.?0%) Jiaamms oJ( h/pofl\e(:fm[ Sejmenfs Cu'} of C}\aﬁye—of—ﬁoai Pom’fs,
quat‘ms oj’ Vand M Cshear jcnrce omd benAirj momenX ) 7£p)’ |
each sejmen‘ks ( For instance, Sejmeni AB), and finally the
5]\an ok momerj Jrajmmsa P=401b
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Z. The cdumn shown in the Fijuye 3. 1s ]fiXeJl ot the base and free at
. ‘Pﬂe vpper €n0Q-. A Compressjve loo\o( P ac’f’s af -Ehe ‘{:oP o)(' 1"}\6
US%) Clomn . Besinning  with the diﬁerentfal eguation , derive formulas
| —)[m” A) the maximum deﬂ&fm\ S of the lumn, (B) the maximam
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bendinj mom enk Mynax. in H]e w(umn.x Note
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B (A)Defermine ’rl'\e o(ejqeciim\ Sc a*'fl\e éno( of H\e oVerkanj —for f‘t\e

(30%) beam A BC shown in Ffjure 4.1.
(B) I} an amother load  is opplied ot the mid poirik oj‘ the beamAB

Gs Shown in FfJure 4.20 De&erm;ne ‘H\e yotio % that  will make
+l\e oﬂoj[leclﬁm 03% C zgml :ﬁo Sero. (Assume ET is amsfani).
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2 A fapereoQ cantilever beam A B oJ[ Leyj+1\ L .ho\s Sguare Cross
| sedion  omd SUPporXLs o concentyated load P af +the j(yee end
(I5%)5how'\ in Fgure 5. The width ond height OJL the beam \N/ /iheow’/
j(Yom ho. at fLe ce ond to My of e —Jcl‘xeo\ end . Gnsfoaer/‘rj
On'j ‘f’)\e eff9(i§ Oj’ beﬂfifhj CLAE % l.OONOL P, Ae'fermb\e +lw.q distana
X wam the fyee ondk h the cmes  section oj Maxi mam normal
stress T]L o = i"\g . LOM IS f)\e Ynﬂjni»t«o(e oj‘ l‘{'lu MOxXi mum

nomal  stress Gmax 2 What s the  yabio LOl this stress +o the
5= b{s‘ for lfectaujular
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